Tutorial 10
1

Let {a,} be the Fibonacdi series, i.e. ag = 1,a1 = 1,02 =3, - - a0 = a,41 + ay.
Let {b,} be a series such that b, = --.

Given a; = %(5“ — o) where a = 1*2‘/5 and g = ”2—‘/5

Show that the infinite series Y 5’ b, converges.

2

2k n=2k-1

2k—1 n =2k

2k+1 n=3k+1

Define bijection f: IN" — N, B(n) = s 4k+2 n=3k+2

4k n = 3k

2k +1 n=k2+1

202 —k+i—1) n=k+i i€[23,4,--,(2k+1)]
Also define sequences {ay}, {b;} where a; = (—1)— and by = ! 1)”
Determine if the following series converge.

@ Yo Ay (n)
(b) E;o 188(n)
(©) T018y(n)
(d) X571 bam
(€) Lni1bpm)

Define bijection a : N" — IN'", a(nn) = {

Define bijection y : Nt — IN't, y(n) = {
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Show that if f(x) = Y12, Al 0)‘( Vx € (—c,c) then } ;7
flh(()

f“(U

(—c,c).

i.e. The series ) ;7 converge absolutely Vx € (—c,c)



